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Ch. 9 & 11 Review - Surface Area & Volume

1. If 1 cm?® of iron has a mass of 7.52 g, what is the mass of an iron bar of rectangular cross section with the
dimensions shown?
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2. If one guppy requires 5 L of water to live happily, what is the
maximum number of guppies that should be kept in this aguarium?
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3. The excavation for a house and the trucks to carry away the

material have the dimensions shown. About how many level
truck loads are necessary to remove all the dirt?
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5. A section of concrete pipe 30 m long has an inside diameter of 1.2 m
and an outside diameter.of 1.8 m. What is the volume of concrete in
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- 6. Arectangular strip of aluminum, 30 cm long and 10 cm wide, is rolled into the form of a cylinder. Which
would have the greater volume, a cylinder 10 cm high with circumference of 30 ¢cm or a cylinder 30 cm high

with circumference of 10 cm? It »f"‘"‘—"—”"\\ N
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a. Flnc(t%e volume and surface area of the fish tank if the base is a regilar octagon with side length 0.8 mj

and the height of the prismis 2 m. SAA( 0% 23%‘3 l(ﬁ ‘); ,,,,,,,,,
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' 8 The Germany Historical Society has just acquired a castle on the Rhine River and wishes to turn it into a
museum. But for it to be inviting to guests, they must heat the castle and place a new layer of plaster
around the outside. If one commercial heater can heat about 16,000 cubic feet, how many heaters will the

_Society need to purchase? How many square feet of plaster will they need (ignoring the windows)? The

Society has modeled the castle with the following diagram:
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~ Each pair of figures is similar. Use the information given to find the zoom factor (lateral/side ratio) of the )

given figures,
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Each pair of figures is 5|m|Iar Find the z
volumes.
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' Some information about the surface area and volume of two similar solids has been given. Find the mlssmg

value,
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For #s 17 ~ 23, find the volume & area of each solid. Name each solid. Show work an
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